EARAZROREIERT — 2 N— XBISY —F 20201828 (K) 10[EI7KR1H

m%ﬁ %5 % 3 EEE R
[x&4£] 1 % :3,000,000 @ ~ 23 :780,000 @ ~ 37 :420,000  ~ 4 7% :300,000 ™ ~ 5 7 :150,000 M
B\ BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF [SIEH | AR | HE | NG FIB) / BE / £ENS
11505 A% 3 4 3 ;555%% 1:45.7 2-2-1-1 | 41.4| — 1 451 iﬁzﬁgﬁ—é (B&R)
: =) e
RN—HNK BiAE ISk ® | gx m
| ] 30 _ 5 3
20710/ 7Y "o %%Eﬁj 1(7455? Fee 4 ? (4:31) E(Ej@'j(‘gg)?#—f—x
RiN=—HNE By—<ALLy R HE E
3 YA =TS T — 3 ;i%lifl)*é— 1:46.6 6-5-6-4 | 41.7| — 8 395 ﬁhﬁ?ﬁjﬁ P(%E%ﬂ
. 5 5]
QIAXAD-XI 1A BiFL— kA—AZ K ® 001 55% kass
“ N = . 4 _ N
4 T AT AT 40— % 3 | B 1(/:\1&;33 5-4-3-3 | 41.7 9 | 414 g;ﬁg%*ﬁ)
L HATAT o= BFAVIT ) | xmiss
5 FollA—5 it 3 ;H');E 1(:14/62.>7 11-10-10-6 | 41.0 | — 3 417 ’a?g)ib“;ﬁg)
R:BALNFT Ry IR B hITAY95 (-3) KBRS
6 — it 3 Eﬁﬁ%l 1:(427).0 1-11-7-5 | 41.3| — 7 | 399 E(UJ)E;X{*E;E;E;&%
R hE—XT—F— BIRFTERyY 03 | kg7 — i
71516l V277147 H #3 | AR 1(:34;4.)2 8-7-8-7 |41.6| — | 4 ;4_534) 1&(%&; WEK;R)
Ly —2-U—=97 B:Va1II9> 7477 5% EE
gl 3| ¥ A FX—% f 3 | BAERA (12417/26) 8-6-9-10 |42.2| — | 11 | 388 [é/ﬁggj] (iR
QRS FToE BiA S TETRAA #2 | B ess
ol7lo|/sr73L— i 3 5%47%”% 1:(4:3).2 7-9-4-8 | 42.9| — 6 423 ﬁﬁfji (KiR)
L:TVHA XTI K BN N—FHv— (1) B 77—L4

7 B i 3 1:49.8 4-8-11-11 | 43.7 | — 12 | 465 |FTEEE (KR)
10l8/11| FT1TE>ZXAA 54.0 (10) (-3) |BREERLE

RixAYaE—T— BL—TKFT LTy
11|71 REN=F - o3 | FIERE e 1-1-5-9 |44.6| — | 5 (4851) fﬁf;? OKiR)
LELHFITYLGTFR B HYFFLA i
1218112 z?:ﬁ:ijiﬁ;{jﬂg 43 Eﬂ%i%ﬁ 1:(591).5 10-12-12-12| 45.2 | — | 10 (5:)23; zz?;;n(%lﬁ)mat Conal
@ 1 —F—EAIE
13=zr= 1,5,10,11,4,8,9,(3,6),12,(2,7)
2o=7F= 1,5,10,4,8,3,6,11,9,2,7,12
G=57= 5,10,4,9,1,8,7,6,3,2,11,12
43—F— (5,10),4,8,7,2,6,9,1,3,11,12
[ 7N
B OB 5 140M 74K 5-10 200 % E 5-7 250MH &8 5-8-10 3,510M
7 B 5 110M 5-8 1,260 | | & = 5-10 310 | | 3&EH 5-10-8 7,370
10 160 8-10 2,700M B 5-10 450/
8 580M

ARICOVWTRDTEEERROODE. TR LI,



